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= Year 12           = Algebra of functions            = Worksheet 2 
 

1. Given ( ] Rf →∞− 0,: , ( ) xxxf 22
−= , find the rule of 1−f . 

 

 

 

 

 

 

 

2. Given ( )
3

1
1

x
xf −= , find the rule of 1−f . 

3. Given ( ] Rf →∞− 0,: , ( ) ( )1log 2
+= xxf e , find the rule of 

1−f . 

 

 

 

 

 

 

4. Given [ ] Rg →− 0,: π , ( ) ( )ttg 2sin= , find the rule of 1−g . 

5. Given [ ] Rg →− 0,: π , ( ) ( )ttg 2sin= , find the rule of 1−g . 

 

 

 

 

 

 

 

6. Find the rule of the inverse function of ( ) ( )θθ −−
−=

121 eh . 

 

 

7. Express ( ) 1124122 23
−+−= xxxxf  in the 

form ( ) cbxa ++
3

. Hence find the rule of 1−f . 

 

 

 

 

 

 

 

8. Given ( ) yxyxyx sincoscossinsin +=+ , express 

( ) tttg cossin +=  in the form ( )bta +sin , where Ra ∈  and 









∈

2
,0
π

b . Hence find the rule of 1−g . 

 

9. Given ( ) tt eetf 22
−=  and [ )∞∈ ,0t , find the rule of 1−f . 

 

 

 

 

 

 

 

 

10. Given 2
1

2

2
++=

y
yx , where +

∈ Ry , express y in terms 

of x. 

Numerical, algebraic and worded answers 
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